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Max. Marks : 70

(5x2=10)

lV Semester B.Com. Examination, AugusUSeptember 2023
(CBCS) (2021 -22 and Onwards) {Repeaters)

COMMERCE

Paper - 4.4: Costing Methods

Time : 3 Hours

lnstruction : Answer should be written completely either in
Kannada or in English.

SECTION - A

Answer any five of the following sub-questions. Each sub-question carries
two marks.
'1. a) What is job costing ?

b) Give the meaning of operating costing.

c) What is Economic Batch Quantity ?

d) Give the meaning of abnormal gain.

e) What is meant by work uncerlified ?

f) Whai do you mean by retention money ?

g) What are by-products ?

SECTION _ B

Answer any three questions. Each question carries five marks.
,*r

2. Briefly explain the different methods of costing.

3. Calculate EBQ and No. of batches frorn the following :

Annual consumption - 60000 units

Setting up cost per batch - T 1000

Cost of manufacture - { 20 pu

Flate of interest * 1Ol"

Carrying cost * T 1 pu per annum.

(3x5=15)

P.T.O.



cB - 266

4. prepare abn
particular" 

or*r, loss a/c of process ,X, from the following details.

Materials

Labour

Overheads

lnputs (units)
Normal loss
Sale of normal wastage pu
Output

170A0 units5. From the following information calculate :a) Total Kms
b) Toial passenger Kms.
No. of buses _ 4
Days operated in a month _ S0 days
Trip made by each bus covering a distance of 2oaKms one side.Capacity of each bus 50 pr*.*nn.r.
Average capacity * 7S%.

6' 
::ffi':j;ll li,?;r'vourd 

vou arow to be considered in the forowins case ?

Contract value _ S,00,000
Cash received _ Z,TO,OAO
Work uncertified _ 15,000
Deduction nifls _ 10%.

SECTION _ C
Answer any three of the forowinE. Each question carries twerve marks. (3x12=36)7' Product 'GB'.is_obtained after it passes through three distinct processes.JiiIffis inrorma,i", i- 

"[iuini,J]r-o* i,.,"?.ornts ror rhe month endins

ff:::il:li,,,r,u process_| process_u process_ur

Directwases ffi ffi ffi;

Amount (t)
T 30,000
T.t0,000
T 7,000

20,000

1A%

t1

I ffilti illil lff llilt ililt illl /t
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1000 units at T 3 pu were introduced to process l. Production overheads is
9000 and recovered on 1A0/o of direct wages. The following additional data
are obtained.

Output (Units) Normal loss

-.)-

Process

I

il

ilr

950

840

750

5%

10o/"

15%

Value of scrap
(pu T)

2

4
t-U

Prepare process accounts and abnormal loss and abnormal gain accounts.

B' Ganga Transport runs a minibus with a capacity of 25 seats. The bus runs
between two towns which are 25 km apart. lt runs for 30 days in a month and
on an average 80% o'f seating capacity is utilized. The bus makes two round
trips each day.

Particulars
cost of bus (in t)

15,00,000
Estimated scrap value at the end of its life of 10 yrs 60,000
Driver's salary p.m. 9,000
Conductor's salary p.m. 7,500
Manager's salary p.m. 6,000
Cleaner's salary p.m. 4,500
Garage rent p.a.
Life tax 

)'o' 32'4oo

Ftent p.m. '?,333
Flepairs p.m. 3,600
Diesel, oil, etc. p.m. 36,000
Prepare statemend showing operating cost per passenger kms.

9. The following information relates to a building contract for t 5,00,000.

Particulars

Materials issued

Direct wages

Direct expenses

lndirect expenses

Work certified

2021

({)

1,50,000

1 ,15,000
11,000

3,000,

3,75,000

2022

(r)

42,000

52,500

5,000

1,000

5,00,000
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Work uncertified

Materials @ site

Plant issued

Cash received

The value of plant at the

Iiilltil iliil tll! illil ]1il

4,000

2,500 3,500

7,000 1,000

3,00,000 5,00,000

end of 2021 and 2A22 was { 3,500 and t 2,500

10.

respectively.

1) Contract account
2) Contractee's account ol 2021 and 2022.

From the following details you are required to calculate the cost of Job. No. 225
and find out the price to give a profit oI 25% on selling price.

Materials cost at { 6,000

Direct wages :

a) Dept. A - 80 labour hrs at T 10ihr
b) Dept. B - 60 labour hrs at T 6/hr
c) Dept. C * 40 labour hrs at T 5/hr

Overheads expenses for three departments were estimated as follows :

Dept. A - T 5,000 for 1000 labour hrs

Dept. B - t 6,000 for 3000 labour hrs

Dept. e - T 2,000 fol1000 iabour hrs

Fixed overheads are estimated at t 10,000 for 5000 normal working hrs.

a) Explain the features of production account.

b) ln process'Z'4000 units of materials were introduced at a cost of t 4,00,000.
The other expenditure Rs. 2,40,000 incurred, 5oa were lost in weight and
th6 normal loss was 5% which were sold at t 16 pu. The output of process
'Z'was only 3650 units. Prepare process 'Z' alc and calculate the value of
abnormal gain.

SECTION _ D

Answer any one question. Each carries nine marks. (1xS

12. List out the industries located in your area and explain the methods of costing
adopted by thern.

OR

Draw up a operating costing of a renowned transporl company.

,

11.

-4-
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qa--)
c^JCpd/l - eJ

iJo€clddc occ$ l.ir-Eriqriiri'trJ9c,,. €,.g :nt-_-g1I ndd) scdil#J.

1. a) $a de;i dz$iri.cJr icdded) ?

b) uad, Cqd ef,rddi aee.

c) EBQ ud) udo$o.
d) srt::i,: cq:;:do."-,: ?

e) d Qedoie;add dtiC u{.;d) gs:j.

f) pCra dea ocAoed: ?

g) n=-trgiriVJ;o;osIJ:

\^-r) ^ac^iipd{l - i!r,/

ii,Dd eD dCn d].iacb {, d*dsed en:E oa " {, g Ceo d*g ura, er oddg;. (3x5=15)

-J-

(5x2=10)

d,?g (dra.)

dra. 30,000

, cta. 10,000

Co. 7,000

20,000

10/"
:{a {.\ljs. I

17000 cjraDffrf$;

2. d{Dearo$ -Did ;;,6 ;@idsQr icsdamn tdo:r.

3. * dsnd E:cErlgod EBa $dl ?rlr?,fdg ioaJ"el:di dcd:3,cao1:o.
ffi&rd ed;$rre il - 60000 ci:;tDoSCg;
:JCotGilt i{fl$.: - Ca. 1,000 z-ccJ: *rrSd
en:cduo dz3 - d-e. 20 z.od": c$_o0ilfritj tJ

zrG_ dd - 10%
iodrd d4- dro. 1 z,cd; oilo&uyd e,oei: ddrd_

4. * dg*oa:;laeci:o*'X' dcdd s;ad>cr" ddc a;adcJ:d; ddo*o.cein
A.irJr.t-
C^JC^J\J, IVLJ

i:{;r tn{sA t.{-nodr ( -;s.)lry nsJ )

Jnol
u,.tu \-/

i- ^-9^ra^]-;i'i- ai
wd

ur-{l= (C)oiS)
'-_)_J J!
^.tv;"IJcaJ^ i-/i^.{

:Es.Dd." -tmi *nene^3 il,& aito&Lf.gJ
oar-:*iv lve LlaJ

t
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5. * dVn- :5rJ&,€ci^:c6,

a) z-ut E.tue .

b) LurJ d,o$:Sd 6.&:e.rl#.j: dod:toGc:ro.' eJJ or

Z-tU ;*ii:fIi: - 4sJ .n

?"odJ Bcild0*ard- idrbad Oddd; _ 30 Addd:
q,€ &6l,cd 200 6.e s.ns, douddi 6e c-..i^),d,,iJ-nJg;.
aJ;"d IEC)F.r 50 ErcrD#d6
q,dDSdC doaio {,cn;ra : deEm 75d mabfi",r.

6. 6r ii+nd i:-r:rxr1 . ^6. -*,!v;- LJu: LsufJ rev =:,aC5ii: d-ecerl^i u;-l :l;; 5sg
:r{s.*^A-/^ \J\+\ R i.c"iu/)t:'ryilql]OJ ?

rDgd d4- 2,80,000

frrQd dd - 5,00,000

dra idCId:ddJ - 2,7A,OOA

doFedoid dei - 15,000

Lrlo_d dGd - 10%.

epod - A

dn{cnddra *ra& 4donen r,,ridoi. gi9 E,a=-ur d{ddr sodds;. (8x12=gg}

7. tiigi'GB'ciJ=-- *rni. - ^6< r i ^rr:<.1 <-n.,- 4a-<J^irJ-e
'"t - - ---i*"r c^e,e\/J *'w.{.:iiijj lrav s;i3= =;* o,-'iro -cgo rGoJJ:---ruguj.

31-12-2022 i;"rirrn#i; ec)iv 3;ifiioi * i;rE;xa,g3t-, eaa;:mno.
6.-)JJ^J-c"Jc.onv'> dgoS _ | E,gcb _ ll €,g,ojJ _ lll
ded aoil:!,d$: 2600 1980 2962
1^a 4^-a 'lNru cJrecJ 2AAA 3000 4000
1000 +3;diigJ u.C.3 pu st) c,d,3iJ L] 

=O#.3J55R5. wa;-*J 
=:s_l:il1i:

::t:.:g 1 o o % d e o ; e s Jc{ a* cb il d cr, eD n d. d, ;s 
^.: 

* x,_* -;, r;*;
ww\evv, tw.

nirx EcsD;iliiv) i!firot. iE m .#ii$g.(Eruisn*;) ---'d'--l ^"i.,.';il"'i
| 950 5o/o 2
lt 840 1A% 4
lll 750 15% S

qieJicjr a:-:,ddgr d:d; eidx dd #;d.; sidx erls.s ardil::-; gcjlo,:r.
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z;ad eJeJ
^i

(dJo.,fge*)

rm alnme^: zJd "'33,331:- i=- €cd$ io,_".S
pmrddd Eorl$ Hou$
ddahaa#d Eorl$ ioa:g
iztitla?$ddd S orleJ BozueJ
rroroe# uoad z,oeb ddrd
auade dori *

zraari gozlgri

ebd,l Eorlsrl

9,000

7,500

6,000

4,500

32,400

72,OOO
'1,500

\.i+L:- -:,*r_, =sr.ii bintsn 8,6004g irojD$do/t 
s .i"^e argr-,r*,5*=*r"*{_:+. _{^ -^ , 3z,,000

9. & dsjnd *Dto€ctu s,00,000 
":"--- 

dqdq dneori:d des8c$d: dc$ao:i.
iCdzl$: v,wv,uuu u,?.dS t"cd) gS6 riJgild lo*^cB:rd.

2021
;r-l;il4,d9ii: &ead; (dra.) 2A22

lrr' -^-^. 
q 

'(v\v o.,r,i(, 
iw'i)* 

1,5o,ooo (d.,o')

J-- -- .ruru &Lg),-fig, 1,ls,ooo 42'ooa

i€d;ed a.rz$rrlg: ,*1 li,ooo 52'5oo

a5re€do&d d", "o' '*1 s,ooo 5'ooo

dre,:do^id Eoi 3,75,000 .,rJ:Xi|ededddO*g:d;aan0,d+: 4,OOA

e.FdtQ, cr6il 2,500

'{cn .;;;;;#ildc dra 7,aoo s'soo

:::l*q iorireod-do;bd;-=dc*rrrr^.,_,- r,?0,*ro .,.J,333srr.rJEe,. ci .vcu c^lsor gd$Dn d6. S,S00 abq d,6.2,500

::r: ;$e 2022d cda* ddr*1) fcyr-i:ru ---r w

2) rbgri ieaddi "e,-gilv& 5f,.E0:..
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10. * dsind edo$d9cc 8a dor icaJ^ 225 d cqdq. Eoc:&rac:o ;sQ cneno:
d,'jo$o*2s% oag &ed:iod rla **jla aidc3:il; dod:toBos:o.

milrld$ d?"f- de. 6,000
{-i t^-or.Nr-u oJit .

a) cpd A - B0 doO rto$il*J de dodrl dra. 10

b) ezpd B - 60 doS do$rtsb 4e dcosrl Co. 6

c) eq,Dn C - 40 d,oO doujdqJ d,g doujd dro. 5

^.-.-t\< -{.--9^qr^"-e-uJvsl \Jia) !i,Jiv (;l )VJ
wa

epad A - 1000 drne rlco3ded d,?. 5,000

aqErl B - 3000 deO frcdrtgd ctr. 6,000

e?Fd C - 1000 drae dcsit+ri de . 2,000

uc.E.*,*. ad *:rd3,3,5000 m"$td. tiexa iicfn*n ;.r. 10,000.a i7?.i u

1 1. a) waden aadcJ: e;d:ad$d: &do&.

b) dicfu dcd'Z'd4000 c$6&ufd+.rQ do.4,00,000 cultre_uzs tmdrdctn
rozso3rieiEnc. q6d $z$rrlqnn #. e,ao,oobn*is:* fi;ir;*. ;il;;;
urri icDFrilv.+ is. 5 ud; gcdc 5E sne5, -Jsi -a j^::L::: {- - ---- '--i -)IJ:5, I{ E*' 5 5fi1 

=ne$*€edsdi €,9 oilrDLyd dro. 16dod c>os;ode:hc -qgc$ do: ,z' j
:rJ3 ! 3650 3Jtrc r, gr iivJ. 6 i :i: d :e'z' i,iJae ai:i; a r ra:,, ;1.r. c: - --{ n J
n?6c;: aFe;, rlrJdi dcC:BoGcl:o.

'c3ndmdco e-ocJ: qf d..ri'w-do,r. €,g ddod B.oeJ+ ercddq;b. (1x9=g) l

12':Tr:Yd$o*q&durriaodrlsi;*ds.rdrrat:6,:uo-*o,dirddr"fmie6rddg-*ro
ernv ul/gU3.

sJ

eFilo

ie;p cqfr souoe,rrccd naod dod&ai: s>dc$al. q€et,jfld .ia;do$d; doJJlo&.


